Survey of Work Locations for both Thornbury Fields and Park Farm – With Overall Average
Based on the TRAPPD survey of Dec 18, below is the number of individual journeys to places of work daily, as declared (with 1 to 4 per household). In virtually every case, the journey is made by private car seemingly with a sole occupant. Distances got from my iphone, some being intelligent guesses.
	Destination
	Distance from Home
	Thornbury Fields
	Park Farm
	Total Journeys

	Home 
	0    miles (one way)
	9
	8
	17

	Thornbury
	2
	11
	8
	19

	Oldbury
	4
	1
	0
	1

	Elberton
	5
	0
	1
	1

	Almondsbury
	6
	0
	2 
	2

	Charfield
	6
	1
	2
	3

	Berkeley
	7
	1
	0
	1

	Wotton under Edge
	7
	1
	0
	1

	Chepstow
	8
	0
	1
	1

	Bristol etc
	15-20, say 17
	61
	64
	125

	Avonmouth/Portbury/Portishead
	10
	4
	3
	7

	Winterborne
	8
	0
	1
	1

	South Glos
	10
	3
	4 
	7

	Gloucester/Chelt’n
	21
	4
	4
	8

	Bath
	20
	2
	2
	4

	N Somerset
	20
	1
	0
	1

	Weston S Mare
	30
	0
	1
	1

	S West
	30
	1
	0
	1

	Swindon
	30
	1
	2
	3

	Bridgwater
	40
	0
	1
	1

	Cardiff
	40
	0
	1
	1

	Oxfordshire
	50
	0
	1
	1

	London and afar
	120
	5
	1
	6

	Travels
	?
	3
	3
	6

	Various
	
	4
	6
	10

	
	
	
	
	

	Totals
	
	113
	116
	229

	
	
	
	
	

	Totals of the 22 summed destinations
	
	97
	99
	196


Multiplying the Distance column by the total column and dividing by the number of places gives an average distance (in miles, one way). This summation excludes the first row (home) and the last two rows, which are undeterminate. So there are 22 destinations. 

The Bristol number includes the following places stated on the survey replies:

 Filton, Bradley Stoke, Patchway, Abbey Wood, Aztec West, Bristol, Temple Meads, Cribbs Causeway, Southmead, Baker Hughes, Chipping Sodbury, Yate and maybe the odd extra. I have assumed the average milage is 17m, although it depends if commuters use the A38 or M5 and J14.

So a total of 3620 miles over the 22 destinations, with a total of 196 journeys and giving an average distance of  18.47 miles one way.

This average is 29.55kms, so for a daily commute this equals 59kms.

This is for 196 car journeys each day.

The carbon dioxide problem

Using Peter’s CO2 calculations, and replacing his 32kms by 59kms gives per vehicle per annum a total of 1.728 tonnes. Because we have 196 car journeys doing this, the commuting total becomes 1.728 x 196 = 338.9 tonnes for these surveyed houses. 
All the other car usages, i.e. for non-commuting , will probably generate as much pollution again. Some estimates I’ve seen suggest 5 tonnes per household per year for everything they do/use.[image: image1.png]
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